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Math F251: Section 2.7 Worksheet Wednesday 19 September 2018

1. Find f'(a) using the definition of the derivative:
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2. Find f'(3) using the definition of the derivative:
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3. Find f'(a) using the definition of the derivative:

O

flz) =+v1+5x -
‘ Ao Jirsx =) 1454 ﬁw % iy
? (O‘\) = - T a0
KO R ~A

= efz,
_ Qo Jitsx i+sa Jsx+V1454 te >
X2 a K= J1t6x+[1+5a

_ fn NG se= ((+6 &) _ A e N
Mo, G(“OO(JT'T"S—X .g_\j,.ﬁ‘s,u X7 a M(@-ﬂﬂgﬂd
2 I |

Y, [+5a -+ [+5 A . i (3_}.50.\
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4. Find an equation of the tangent line to the curve at the given point:
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Also sketch both the curve y = f(z) and the tangent line.
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5. A particle moves a distance s = f(t) along a straight line, where s is measured

in meters and t is in seconds:
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